
Why did she run away?



Put the verbs in the right form to make 
a story complete.

Yesterday Rover (1. to go) to the Zoo. He (2. to 
want ) to see his friends. He (3. to see) a new 
animal. Rover (4. not to see) such animals earlier 
(раньше). It (5. to be) very big. It (6. to have) a 
little head, long legs, a long tail and a very long 
neck. I (7 to be) a giraffe. He (8 to come) from 
Africa.



His name (9. to be) Blaze. He (10 to like) the Zoo. 
There (11. to be) many children in the Zoo. They 
(12. to bring) and (13. to give) him tasty things. 
Blaze (14. to eat) them with pleasure.



One day a woman (1. to come) to the Zoo. She 
(16. to have) flowers on her hat. Blaze (17. to 
think) she (18. to bring) them for him. So he (19. 
to eat) the flowers. They (20. no to be) tasty. 
And the woman (21. to run) away.


